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FEBI—b—tI+— 4,620/
RN—=2woI—2R 30,800/
7O7zvdaFId—2 79,200/
ARY Y YR+ IRTLwY (BB 9,900/
ARy AL ITZRTLwY (5H) 19,800
AR Y URL STT7—h (BR) 9,900/
AR YU STFT7—k (58) 13,2004
AR YRS AT F> 13,200/
ART Y YR L NYRRUYT (BE) 9,900
AR YRS NYRRUYT (5A) 13,200
ARY YR BE 16,500/
ART YR KER (B 19,800/
AR YU Z KR (5A) 19,800/
AR YRS B — (B 13,200
ARy YZ S 2B U— (5A) 19,800/
ARV YRS HhT7 % 26,400/
ARYY YRS NYRRUYT BERL—Z2FO-X 6,600MH
ARy YRS FF7—F BEML—ZYJIO—-X 6,600
ARy YRS Y1474 BEML—ZVFO-X 6,600
ARy URN IZXTLyY BEML—ZVFI-X 6,600MH
ARy YR~ @BE-EVHU—- BELL—ZYJI-X 6,600M]
ARy YR~ B BEML—ZYJI-X 26,400/
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7O7zvdaFIld—2 72,6004
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ARy YRS FTF7— (BR) 9,075M
ZARTwYZ N ST7—F (GA) 12,100/
ARy UR N AT F> 12,100/
AR Y YR L NYRRUYT (BB 9,075MH
AR YRS NYRRUYT (5A) 12,100
ARY YR BE 15,125
ART YR KER (B 18,150/
AR Y Z KR (5A) 18,150
AR YRS B — (B 12,100
ARy YR~ 2B U— (5A) 18,150/
ARy YR~ HhT7 R 24,2004
ARYY YRS NYRRUYT BERL—ZVFO-X 6,050/
ARy YRS FFF7—F BEML—ZYJIO—-X 6,050/
ARy YRS Y1474 BEML—ZVFO-X 6,050
ARy YRS IZXTLyY BEML—ZVFI-X 6,050M
ARy YR~ @BE-EVHU—- BELL—ZVJIO-X 6,050M
ARy YR~ B BEML—ZYJO-X 24,2004




